ST120RS

Hinge frame-pin lock type

Bending Radius Unit

Layout of the Chain Chain Cross Section

120
Bending Lp Lf H
Radius(R) Loop Length Loof Projection | Moving Height

180 1 441 654 Chain A =} C D Weight
200 1550 694 Type  |Width(Outer)|Height(Outer] Frame/Width(inner) | Height(inner) | kg/m
250 1,864 794 143 75 4,75
300 2,178 894 260 168 100 4.87
350 2,701 1,114 183 115 4.96
400 3,225 1,334 193 125 5.02
500 4,062 1,654 218 150 5.10
243 175 5.28
ivi 268 200 5.52
Dividers(DV) 308 240 5.76
ST120RS 318 117 250 78 5.82
358 290 6.16
368 300 6.25
418 350 6.67
468 400 6.96
518 450 7.42
568 500 7.65
L 618 550 8.49
Assemble divider every second frame 668 600 8.66
DV/T : Applied to Frame 300~600
DV/M : Normal Divider Separators(SP)
DV/W : Applicable to System Tie Wrap or FEB
@ Adjustable Separator length
© sb-DV075/S @ sb-DV0O75/M @ sb-DV075/MS
L)

Chain Type | Ordering No.

ST120RS  sb-SP/600.Frame

1 08 # Dimensions in mm



Free End Bracket(FEB)

Moving End

8-210(M10 Bolt Holes)

8-210(M10 Bolt Holes)

(=)

Q

A
C+29

[fhooooooooonooonoooooi |

g
g
g
g
g
a
g
g
g
g
g
g
g
g
g
g
g
g
g

A

D000000000000000000)

D0000000000000000;

Fixing End

Chain Type |y, Outer) Helght(Outer Frame/W|dth(Inner) Helght Inner) MEBBoItHoIesWdth Hole Type

143
168 1OO
183 115
193 125
218 150
243 175
268 200
308 240
ST120RS 318 117 250
368 290
368 300
418 350
468 400
518 450
568 500
618 550
668 600
System Tie Wrap(STW)

C+50

C+25

121 M10 BOLT Holes M10 BOLT Holes 12.1
1T il
R Spaiay
429 9 o =g 994§
999 = « ‘;‘ g3 4499
) SRNGT i
FEy PEa AR Front View
Side View 1a_||2d] 14_|od | 14

78

It is a unit to classify each cable for
preventing entanglement of cables.
It can either be installed to free end
bracket or installed separately according
its application environment.

M10
Bolt Holes

C+29

i e

E-m 0(M10 Bolt Holes)

Steel End Bracket(SEB)

C
|— 4-910(M10 Bolt Holes)

|| BEEEHEE R

108

Chain Type Ordering No. Hole Type

S-TWEBQ75.75
S-TW,EB075.100 100
S-TWEB075.115 115
S-TWEBQ75.125 125
S-TW.EBQ75.150 150 5 @ o e e
S-TWEBQ75.175 175
S-TWEB075.200 200 LI =,
sons SHEREES 8 s
olt Holes
STWEB075290 200 ¥ ing -“
S-TWEB075.350 350 S-TW50
wenEm S o
S-TWEB075.500 500 STI20RS o o 1%
S-TW.EBQ75.550 550 141 148
S-TW.EB075.600 600 S-TW150
Guide Channel
5 zore NN Czoo: NN o.sn Usieve)
A(C+68) Atk 50 50 _ -0 _
o . - e e 4‘2)62 I 5| Ve)s 2 ‘ 5 3_9)5 0, 50 .
] i g u | R S 4]
e A e o T A | a4 o i i o
FLEL D S | | BN S g o C 83 g
| g o
9 @i@i@ T m]£ | ‘ :’ T ‘ # < g # < % A# 7‘:
Ve IR aears 4 HOUSING A HOUSING A1 HOUSING B
Assembled at the beginning & end part of guide channel
Side Panel
[ T ] 7
pIS 1 il
— = = * #* [ * *_ ] A * #* * * * . 1w * - W mg
N I I I S A A= N 1 Y
Niousive HoLEs LivLoN BAR Netousine HoLe A HOUSING HoLE B/ las o

# Dimensions in mm

Shift Chain» 109

SHOZLLS « 3dAL ppjS 13]|0Y * ureyd Biys



